Required Materials Agenda

pen/pencil Turn in Homework (first 30 sec)
3-ring binder Word of the Day and Warm Up (5-7 min)
2 sheets of paper Big Questions of the Week (1 min)

Graveyard FCA Review (35 min)
Answer Big Questions (1 min)

Homework: Contents ofcl Dead Man’s Pocket
Announcements

Remember, first come/
first serve for turning in
field trip money for the
12/2 field trip to the

Gainesville Playhouse!

Film Club viewing is

CANCELLED this week!



Hand in Homework
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Warm Up: 9.22.2009 (5 min)

« WOD:
approach—to bring near to something

« Warm Up:

1. Draw a picture of the Word of the Day that shows the
meaning of approach.

2. What does compare mean? What does contrast mean? Do you
find using a Venn diagram helpful when comparing or
contrasting something? How many details do you need in a
short response answer? How many details do you need in an
extended response answer?
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“Big Questions” For The Week

How can a Venn Diagram help me compare and contrast
something?

How can I get full credit on a short/extended response answer?
How does our class review an FCA?

What do cause and effect questions look like on the FCAT and
how can I answer them?

What is “author’s purpose” and how does it relate to bias and
propaganda?
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Group Work Trial!

Today is your first opportunity at group work.
According to your syllabus:

“Mr. Hampton does not believe in group work because the
group rarely does any work.”

Today you have the opportunity to prove me wrong.

By showing me you can work as a group, you invite other
opportunities to work in groups.



“Graveyard” FCA Review

Purpose: To understand what makes an answer correct and the
other three answers incorrect.

Directions:
Get in groups of 2
Take out a few sheets of paper for your group
You will be assigned 3 questions from the FCA.

As a group, must decide what the correct answer is and
why the others are incorrect.
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For each answer choice, a 1 sentence description is
required—tell me why one answer is correct and why the
other three are wrong.
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Example

Question 1: “In the movie Labyrinth, the conflict is:”

On your paper:
A: The dog barking. This answer is incorrect because the
dog barking wasn’t a problem in the story.

B: The Goblin King. This answer is correct because the
whole problem of the story is about Sara’s baby brother
being taken away by the Goblin King.

C: The owl. This answer is incorrect because the owl does
nothing in the beginning of the story, so it is not a problem.

D: The step-mother. This answer is incorrect because her
step-mother is a problem, but it’s not the major problem in
the story. She never even shows back up in the story.



“Graveyard” FCA Review
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“Graveyard” FCA Review

Group Numbers & Questions:
1 = questions 1, 2, 3
2 = questions 4, 5, 6
3 = questions 8, 9, 10
4 = questions 11, 12, SR1
5 = questions 13, 14, 15
6 = questions 1, 2, 3
7 = questions 4, 5, 6
8 = questions 8, 9, 10
9 = questions 1, 2, 3
10 = questions 13, 14, 15
11 = questions 11, 12, SR1
12 = questions 8, 9, 10
13 = questions 4, 5, 6
14 = questions 1, 2, 3



“Graveyard” FCA Review
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“Big Questions” For The Week

Answer these “Big Questions” in your notes for today:

How does our class review an FCA?
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Homework

Write a sticky-note reminder or put in planner:

Read Contents of a Dead Man’s Pocket, pgs. 118-134.

Write YOUR questions, connections, comments, and
inferences you had while reading.

Minimum 15 interactions

Place on sheet of paper
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